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Topic:- 42PERSIAN_A

1y - .
LB.’JE_'.J /di 4| was attached to the court of :
(1) g_;,'?}-/ @ eliag

® e @ QlLip

[Question ID = 712][Question Description = Q01_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2845]
2. 2 [Option ID = 2846]
3. 3 [Option ID = 2847]
4. 4 [Option ID = 2848]

2) .
The first J:};}" compiled in India is :

SR LVl @ Pz

(3) .ﬁib"!f @ U2

[Question ID = 713][Question Description = Q02_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2849]
2. 2 [Option ID = 2850]
3. 3 [Option ID = 2851]
4. 4 [Option ID = 2852]

3)
7 Ui.f,b' was completed in
(1) 618AH. (2) 619AH.
(3) 612AH (4) TI6AH.

[Question ID = 714][Question Description = Q03_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2853]
2. 2 [Option ID = 2854]
3. 3 [Option ID = 2855]
4. 4 [Option ID = 2856]

4 .
(_3)'.4; dedicated his :,Lf}/lif!}}akbf;fﬁ;‘-iﬁ to

(1) J/d:'uf.*'iu/u'w @ B~k
®  Sud M @ Ll S

[Question ID = 715][Question Description = Q04_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2857]
2. 2 [Option ID = 2858]
3. 3 [Option ID = 2859]
4. 4 [Option ID = 2860]

5)
h-,-*!gljfwas written in
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@ o @ 4
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e

[Question ID = 716][Question Description = Q05_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2861]
2. 2 [Option ID = 2862]
3. 3 [Option ID = 2863]
4. 4 [Option ID = 2864]

6) . .
LBL'L?{EI/“ Lived in

8 R @ izl
(3) ;_-,Jt:/g’-b' @ bl

[Question ID = 717][Question Description = Q06_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 2865]
2 [Option ID = 2866]
3 [Option ID = 2867]
4 [Option ID = 2868]

AW N =

J.A:’”!Lij}, 1s burled at

O A @ <0l
3 A @ &

[Question ID = 718][Question Description = Q07_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2869]
2. 2 [Option ID = 2870]
3. 3 [Option ID = 2871]
4. 4 [Option ID = 2872]

8) ;
df,ful/;’ 18 a work by
® Gk @ OLSvs 2l
@ LG @ ¢ & V1@

[Question ID = 719][Question Description = Q08_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2873]
2. 2 [Option ID = 2874]
3. 3 [Option ID = 2875]
4. 4 [Option ID = 2876]

? ;LM)I"_JI,}. of J/-';J{"l deals with
1) »";,;I,)&('*f_ﬂfyf:;l?l}‘
2) st‘i‘b/éuf,,dldﬂe} :LF:(L;I,JJI}"”L;GL-V@

(3) :?j::.u;l,:?:(;{?uf
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[Question ID = 720][Question Description = Q09_Persian_42_SHAAN_20NOV_S1_Shift1] Vour Personal Exams Guide
1. 1 [Option ID = 2877]
2. 2 [Option ID = 2878]
3. 3 [Option ID = 2879]
4. 4 [Option ID = 2880]

10) I N
C‘?lfdlf of 2~ | is the history of
® Ll drge @) Cngg,df@_L_f'
(3) f £ LA ) :?‘f Ll

[Question ID = 721][Question Description = Q10_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2881]
2. 2 [Option ID = 2882]
3. 3 [Option ID = 2883]
4. 4 [Option ID = 2884]

11) a
L;L"fd:"l."}f{,,f 18 regarded as
® Bk @ w2k
(3) .':5-'5;;!:‘ @) Krwalel

[Question ID = 722][Question Description = Q11_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2885]
2. 2 [Option ID = 2886]
3. 3 [Option ID = 2887]
4. 4 [Option ID = 2888]

12)
L5/Lf‘:’ composed :
®  ~bds @ b

(3) .’LJJD (4) - :':-.:.J:".-’

[Question ID = 723][Question Description = Q12_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 2889]
2 [Option ID = 2890]
. 3 [Option ID = 2891]
4 [Option ID = 2892]

A W N -

13)

uy is1n:
@ JUG @ I/l
(3) db'g{[f @ ek

[Question ID = 724][Question Description = Q13_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2893]
2. 2 [Option ID = 2894]
3. 3 [Option ID = 2895]
4. 4 [Option ID = 2896]
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[Question ID = 725][Question Description = Q14_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2897]
2. 2 [Option ID = 2898]
3. 3 [Option ID = 2899]
4. 4 [Option ID = 2900]

15) ;
)/-‘7/:;'" died :
1) T25AH 2 T38AH.
(3) T730AH. (4) 728 AH.

[Question ID = 726][Question Description = Q15_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2901]
2. 2 [Option ID = 2902]
3. 3 [Option ID = 2903]
4. 4 [Option ID = 2904]

16)
8 ch} Fisa dictlonary written by :

1) LEJI)EL,E;JIE'T @) _él.*f; I
@&  SriFut # @ il

[Question ID = 727][Question Description = Q16_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 2905]
2 [Option ID = 2906]
3 [Option ID = 2907]
4 [Option ID = 2908]

AW N =

17) J - .
pWI}JJ")';H is the ~# ¥ of the book :

@ AUz @ IR
® e @ LA

[Question ID = 728][Question Description = Q17_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2909]
2. 2 [Option ID = 2910]
3. 3 [Option ID = 2911]
4. 4 [Option ID = 2912]

18)
L;'Lf.ins;’ 1s situated in :

@ IO A @ Ul pa
& A @ AL

[Question ID = 729][Question Description = Q18_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2913]
2. 2 [Option ID = 2914]
3. 3 [Option ID = 2915]
4. 4 [Option ID = 2916]



WW%J'prePRe,i’Eourt language of J?tﬁ. was : 'repp

@ Jblyb @ Qg

@ OIS @ M

[Question ID = 730][Question Description = Q19_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2917]
2. 2 [Option ID = 2918]
3. 3 [Option ID = 2919]
4. 4 [Option ID = 2920]

20) &
The first King of 6)" (& dynasty was :

(1) .j’.!“.f @) lj; | Il
@  Ji 2 @ T L

[Question ID = 731][Question Description = Q20_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2921]
2. 2 [Option ID = 2922]
3. 3 [Option ID = 2923]
4. 4 [Option ID = 2924]

21)

LE!L-':'&!/L' 1s also called :

@ Qbaagls @ Gk
@ OIS @ £IJ )

[Question ID = 732][Question Description = Q21_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2925]
2. 2 [Option ID = 2926]
3. 3 [Option ID = 2927]
4. 4 [Option ID = 2928]

22)
-.._alf/ was the first capital of :

W JPE @ kbl
® sl @ Jilb

[Question ID = 733][Question Description = Q22_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2929]
2. 2 [Option ID = 2930]
3. 3 [Option ID = 2931]
4. 4 [Option ID = 2932]

23) Founder of 3l dynasty was :
@ b @ Flar
(3) ._ﬂa::'e‘! @ “,_-fJJ:

[Question ID = 734][Question Description = Q23_Persian_42_SHAAN_20NOV_S1_Shift1]
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24)

‘;X -.;'-:2 was built by :
(1) A @) (J:!).J:::ji;i:

@ LD 4) lfrfj;{;b

[Question ID = 735][Question Description = Q24_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2937]
2. 2 [Option ID = 2938]
3. 3 [Option ID = 2939]
4. 4 [Option ID = 2940]

25) . i . o
Teachings of <& ./ are contained in:

n b @ 3
@ ¥ @ ks

[Question ID = 736][Question Description = Q25_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2941]
2. 2 [Option ID = 2942]
3. 3 [Option ID = 2943]
4. 4 [Option ID = 2944]

26) .
g’j} ¥ was written from :

(D ezl @) eyl
(3) Uquf.l;JI (4) uf_l',,,!JL;l

[Question ID = 737][Question Description = Q26_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2945]
2. 2 [Option ID = 2946]
3. 3 [Option ID = 2947]
4. 4 [Option ID = 2948]

27 5,0 Shie : .
) Inscriptions of L','_{{" & are inscribed on :

o & @) j_ff
3 4 (4) £

[Question ID = 738][Question Description = Q27_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2949]
2. 2 [Option ID = 2950]
3. 3 [Option ID = 2951]
4. 4 [Option ID = 2952]

28) |
]
UL'L'L'; M became the official language during the period of :

@ gl @ 2y

L |
Y . . L i Iy F-B



WYRHEEERH = 739][Question Description = Q28_Persian_42_SHAAN_20NOV_S1_Shift1] re
1. 1 [Option ID = 2953] ' pp
2. 2 [Option ID = 2954] Your Personal Exams Guide
3. 3 [Option ID = 2955]

4. 4 [Option ID = 2956]

29 -
) During the period of L;,.'L-'L*L' number of J;; Ilrf Jof L,'; !L'f_- language were:
® < @ &
@ =X @ JAZ

[Question ID = 740][Question Description = Q29_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2957]
2. 2 [Option ID = 2958]
3. 3 [Option ID = 2959]
4. 4 [Option ID = 2960]

30
) Arabs called their victory over Iranians as :

oy L f5 ) J:f.dis/:-s

e .
(3) ﬂvujs/_g. (4) r‘:’f/

[Question ID = 741][Question Description = Q30_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 2961]
2 [Option ID = 2962]
3 [Option ID = 2963]
4 [Option ID = 2964]

A WN -

31) 3
Jliass L,f:; shifted to j /:f during the reign of :

1) d'{'fg;z,jli,-ﬂf @ AT
(3) &‘ﬂ:atf:a,é (4) lfy,a’ld,,d!flki

[Question ID = 742][Question Description = Q31_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 2965]
2 [Option ID = 2966]
3 [Option ID = 2967]
4 [Option ID = 2968]

A W N -

32) L
4. 1z the commentary of :

a b @) ..:.af—;
@ 4 @ Lol

[Question ID = 743][Question Description = Q32_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2969]
2. 2 [Option ID = 2970]
3. 3 [Option ID = 2971]
4. 4 [Option ID = 2972]

33)
;Jbgn‘; was appointed as Prime Minister by :

@ Al E @ W laeL il
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[Question ID = 744][Question Description = Q33_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2973]
2. 2 [Option ID = 2974]
3. 3 [Option ID = 2975]
4. 4 [Option ID = 2976]

34)
\.{J!’I &7 3 was written in :

M Ollas @ O
@ & Eum @  (5eons

[Question ID = 745][Question Description = Q34_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2977]
2. 2 [Option ID = 2978]
3. 3 [Option ID = 2979]
4. 4 [Option ID = 2980]

35) 3 .
d_,a)fdf__} of 3 ~7 | deals with :

(1) J,‘:'.a,g L:l_,;:.f(uf_,df;ﬂ*‘:,-li'il-‘
2) eﬁbjdﬁ!dk»ﬂdﬂ!}’wbgﬁ:

(3) J:"’jiu,g’pﬁ‘/:.ﬁ'l}f

(4) CJWL;[,JI.;': L#La L}}/,-:’g_pf,,dldﬂedwké_.uu

[Question ID = 746][Question Description = Q35_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2981]
2. 2 [Option ID = 2982]
3. 3 [Option ID = 2983]
4. 4 [Option ID = 2984]

36) Izskander Beg served the court of Shah Abbas as

a fE @ &

o @ o

[Question ID = 747][Question Description = Q36_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2985]
2. 2 [Option ID = 2986]
3. 3 [Option ID = 2987]
4. 4 [Option ID = 2988]

37 o s ; . %
) Commentary on Avesta )-'.-"L. was written during the period of :

(1) be @ (5l

(3) (5” b3 @ Qbl
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2. 2 [Optioh ID = 2990]

3. 3 [Option ID = 2991] 'repp
4. 4 [Option ID = 2992]
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38) . .
Script of Old Persian 1s :
o & @ ML
3 Qbals @ JSLis

[Question ID = 749][Question Description = Q38_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 2993]
2 [Option ID = 2994]
3 [Option ID = 2995]
4 [Option ID = 2996]

A W N -

39)
The title bestowed upon C}IJ?M‘; by l*"}’s Lf,u; was :

@ Al 2l @ !y

@ At (4) g Il

[Question ID = 750][Question Description = Q39_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 2997]
2. 2 [Option ID = 2998]
3. 3 [Option ID = 2999]
4. 4 [Option ID = 3000]

40)

L}PWCI:‘L"JIC;’; 1s a book of

@ oS E @) ,ﬁ A
(3) (& (4) /EJ

[Question ID = 751][Question Description = Q40_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3001]
2. 2 [Option ID = 3002]
3. 3 [Option ID = 3003]
4. 4 [Option ID = 3004]

41)

Pl

@ A8 A
® S LEs

© =P C";»tu"‘jd i
D) = '3'42(»;:/:’3;

AT n.-f.;n o T .':;;1"’ J't‘\"’.""’.uai’..“".-



WWW.PrepR fose the correct answer from the options given below : ' re pp
(1) (A). (B) and (C) only (2y (B). (C)and (D) only Your Personal Exams Guide
(3)  (A). (C) and (E) only (4) (A), (D) and (E) only

[Question ID = 752][Question Description = Q41_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3005]
2 [Option ID = 3006]
3 [Option ID = 3007]
4 [Option ID = 3008]

AW N =

42)

&
(A) ﬁJF‘:,ﬁulﬂ'\ow;ﬁ

(B) ,s'w"d;m;ﬁ"n
(C) :f;a.éb‘lf-L;JUinir
(D) ::I_f;?ffj::ﬂ,

® 31 G 2

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only (2) (A). (C) and (D) only
(3)  (B).(C) and (D) only (4) (B). (D) and (E) only

[Question ID = 753][Question Description = Q42_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3009]
2 [Option ID = 3010]
3 [Option ID = 3011]
4 [Option ID = 3012]

A w N =

B L

(A) &L&BJQ[{K#&&I}EJJ

®) Ll

© L E3E ,-B,,IJLE;:LJ/:?

@ S eIl T 5 Lo 215
® S L"d‘i o 7

Choose the correct answer from the options given below :
(1) (A). (B) and (C) only (2) (A). (C) and (E) only
(3)  (B). (C) and (D) only (4) (C). (D) and (E) only

[Question ID = 754][Question Description = Q43_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3013]
2. 2 [Option ID = 3014]

Y7 VI TOntiAanm ID — 2N1ET
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(A) ;:5L;>EJr444;;

(B) o il 08 ;JJL,‘:;"::'

(©) &5'5!‘./’}&3 &fduﬂf;;

(D) J}jb'sfb'j.ﬂmﬁ;:

® A A AL

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (C). (D) and (E) only (4) (A). (C) and (D) only

[Question ID = 755][Question Description = Q44_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3017]
2. 2 [Option ID = 3018]
3. 3 [Option ID = 3019]
4. 4 [Option ID = 3020]

45) .
The books written by 9%’ [uly are:

(A) :i:f:ﬂlj.._.e}l.._,bf
®  JUbly

©) J.,PJICI‘

(D) ,U}!J!:;a}:’:

® el

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (O). (D) and (E) only (4) (A). (D) and (E) only

[Question ID = 756][Question Description = Q45_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3021]
2. 2 [Option ID = 3022]
3. 3 [Option ID = 3023]
4. 4 [Option ID = 3024]

46) :
gfglr‘fx.ﬁ'-:{ wrote :

(4) Jj/iﬂrﬁ

®  welisl
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(E) ,f* v

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A). (B) and (C) only
(3) (A). (D) and (E) only (4) (B), (D) and (E) only

[Question ID = 757][Question Description = Q46_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3025]
2. 2 [Option ID = 3026]
3. 3 [Option ID = 3027]
4. 4 [Option ID = 3028]

47) . k] ’6
Among the following statements about :.'/z'F}L,-PO L/ the correct are :

& EdFePls

B /icj,n)iffwmab‘bﬂjm"ru

(:

© AEsLIELS £ 2
@ =2 A

(E) J,J/ngﬁ/:’/lwf’sgfﬂ 3

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (B). (C) and (D) only
(3)  (0). (D) and (E) only (4) (B). (D) and (E) only

[Question ID = 758][Question Description = Q47_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3029]
2. 2 [Option ID = 3030]
3. 3 [Option ID = 3031]
4. 4 [Option ID = 3032]

48) 2
2l b wrote :

@ LA
®) / A

© =iz
o F
®) Jf'w‘fcz

Choose the correct answer from the options given below :

(1) (A, (B) and (C) only (2)  (B). (C) and (D) only
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[Question ID = 759][Question Description = Q48_Persian_42_SHAAN_20NOV_S1_Shift1] frepp
1. 1 [Option ID = 3033] Your Personal Exams Guide

2. 2 [Option ID = 3034]
3. 3 [Option ID = 3035]
4. 4 [Option ID = 3036]

49)

Among the following statements about / (‘}; l* the correct are -

(A)

(B)

(©)

(D)

(E)

A2 I F I oLl

el 22 i8IS A )

5.7 ,,:. be}“'u'[é;.‘bl.cf?,z..._.aﬁ(uﬂl 7l
eAENP o6 F T L

:ﬁ,ﬁd_)df it bl 05 e 7k

Choose the correct answer from the options given below :

(1)
(3)

(A). (B) and (C) only (2)  (B). (C) and (D) only
(C). (D) and (E) only (4)  (A). (C) and (E) only

[Question ID = 760][Question Description = Q49_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3037]
2. 2 [Option ID = 3038]
3. 3 [Option ID = 3039]
4. 4 [Option ID = 3040]

50) JTAL;JL?IJ‘*:'::- wrote :
@ GNPzl
® ek
© hl
(D) =B
® P

Choose the correct answer from the options given below :

(1
(3)

(C). (D) and (E) only (2) (A). (B) and (C) only
(B). (C) and (D) only (4) (A). (B) and (E) only

[Question ID = 761][Question Description = Q50_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3041]
2. 2 [Option ID = 3042]
3. 3 [Option ID = 3043]
4. 4 [Option ID = 3044]

51)

It is =said about {54"}’:}. ?”'f&;‘:;{b ;
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[Question ID = 762][Question Description = Q51_Persian_42_SHAAN_20NOV_S1_Shift1]

® 4CA
(©) :1&3’ 59 I
@) G

(E) M,La'?bjﬁé

Choose the correct answer from the options given below :

(1)  (A)only (2)  (B)only

(3) (C) only (4) (D) and (E) only

1. 1 [Option ID = 3045]
2. 2 [Option ID = 3046]
3. 3 [Option ID = 3047]
4. 4 [Option ID = 3048]

52)

[Question ID = 763][Question Description = Q52_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3049]
2 [Option ID = 3050]
3 [Option ID = 3051]
4 [Option ID = 3052]

A W N -

53)

S}J)JL'-:'B ]
;)
(A) a.:'.»-'i,i'-;',flz}: B ,{J/

®  bers 7Ol Tbe ool sbslet f -

© £58U iqlxl;;&_ﬁ.fatfpk sl IJQ'J:}JL?EMJU_?‘T’

(D) J/Jé;}d{:;fﬁﬁ,ﬂfj-}fs:,{&fﬁ_.l};

(E) Jf:j;l;e[‘fﬁgﬂu'bb

Choose the correct answer from the options given below :

(1) @A). ([, (C)only 2) (B). (C). (D) only
(3 (@A), (B). (D) only (4 (A). (B). (E) only

P
Z IF T
(&) dﬁ,*fz.elmlﬁgu}u:/_mb
®  sfazlJy J,_vg.J/,ilﬁ-Ef
©  s26sTsS 2PN AT 5N

T RO T Jlﬂbyyr'![‘?.l['.flégfq:?) Lo

prepp
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Choose the correct answer from the options given below :
(1) (A). (B) and (E) only (2) (C). (D) and (E) only
(3)  (A). (B, (C) and (D) only (4) (A), (C) and (D) only
[Question ID = 764][Question Description = Q53_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3053]
2. 2 [Option ID = 3054]

3. 3 [Option ID = 3055]
4. 4 [Option ID = 3056]

54)

s 7 bl are:

(A) LD.'.,}L’JI:U

® L

(©) .»b&lv"'u(ji’i‘
D) bl § e
(E) w.ﬁ;:‘:i/ﬂ

Choose the correct answer from the options given below :
(1)  (A). (B) and (E) only (2) (B). (C). (D) and (E) only
(3)  (A). (B). (C) and (D) only (4) (A). (C). (D) and (E) only

[Question ID = 765][Question Description = Q54_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3057]
2. 2 [Option ID = 3058]
3. 3 [Option ID = 3059]
4. 4 [Option ID = 3060]

55) &
.ife},iéﬁ'i;”@"_f& :

@  Jbr bl

® ¢z
© ks
D) d e

® G800

Choose the correct answer from the options given below :
(1)  (A). (B) and (C) only (2) (A). (B). (C) and (D) only
(3) (B). (C). (D) and (E) only (4) (C), (D) and (E) only

[Question ID = 766][Question Description = Q55_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3061]
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56)

dbj)fﬂ bl »* wrote :
(A) J' !JI.;;L*‘;;

® by

(©) j et

O bl

(E) ?!:.'.Jli:/s

Choose the correct answer from the options given below :
(1) (A). (B) and (E) only (2) (B). (C) and (E) only
(3) (A, (B). (C) and (D) only (4) (A, (B). (C) and (E) only

[Question ID = 767][Question Description = Q56_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3065]
2. 2 [Option ID = 3066]
3. 3 [Option ID = 3067]
4. 4 [Option ID = 3068]

57 i : 2
) Whaich of the following Mathnawvis are composed by {5 ;L;_-)LJ" :

@& kgl
B) bl

© X

@ b}
€& b0l

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (C) and (D) only

(3) (B). (C) and (E) only (4) (A), (B) and (E) only
[Question ID = 768][Question Description = Q57_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3069]
2. 2 [Option ID = 3070]

3. 3 [Option ID = 3071]
4. 4 [Option ID = 3072]

58
) df:}i' has written :
@ el

(B) fa?;'/'

prepp
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D <M

® el

Choose the correct answer from the options given below :
(1) (D) and (E) only (2y (C). (D) and (E) only
(3) (A). (B) and (E) only (4) (A), (B) and (C) only

[Question ID = 769][Question Description = Q58_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3073]
2. 2 [Option ID = 3074]
3. 3 [Option ID = 3075]
4. 4 [Option ID = 3076]

59)

.’[Jf).i; is of :
& Gl
. By g,
® e i S ey
© el
- N
D) LBEUIZ s sb§ LS E17 50
aAe
(E) a»l.,.buj ry
Choose the correct answer from the options given below :

1y (A). (B) and (E) only (2)  (B). (C). (D) and (E) only
(3)  (A). (B), (C) and (D) only (49 (C). (D) and (E) only

[Question ID = 770][Question Description = Q59_Persian_42_SHAAN_20NOV_S1_Shift1]

A WN -

60)

1 [Option ID = 3077]
2 [Option ID = 3078]
3 [Option ID = 3079]
4 [Option ID = 3080]

6';}"{‘“ :
@  AOIFE S bl b UF S K A
B BN L) bl
(C) c.-/"lzﬁJlbeflﬁs.f:,qyd:‘lJ.g;u

& B
© 2SN E

(E) Jj/;uc.wul,-d,)iln")f;-yr

Choose the correct answer from the options given below :

(1)  (A). (B). (C) and (E) only (2) (A). (B). (D) and (E) only
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[Question ID = 771][Question Description = Q60_Persian_42_SHAAN_20NOV_S1_Shift1] 'repp
1. 1 [Option ID = 3081] Your Personal Exams Guide

2. 2 [Option ID = 3082]
3. 3 [Option ID = 3083]
4. 4 [Option ID = 3084]

61)

(A)

(E)

srsehat b

-.:.ul-f ;-*-.uf

ezt bl
et 2 6 o
:wl{_,&;;f&y:"dlﬁ.m}‘j

wiSelilug L%L:&L':‘%x.;_;,lfr'r -

Choose the correct answer from the options given below :

(1)
(3)

(A). (D) and (E) only (2) (A). (B). (C) and (E) only
(B). (D) and (E) only (4) (C). (D) and (E) only

[Question ID = 772][Question Description = Q61_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3085]
2. 2 [Option ID = 3086]
3. 3 [Option ID = 3087]
4. 4 [Option ID = 3088]

62)

(&)

(B)

(€)

(D)

(1)

The Sufi of India who visited Qoniya and met L; ,’Jd..-ﬁjldﬂf LU was -

S

J!;L;,I_,JI/::‘J

e 5
G 0L~
&, OLaPJ s
Choose the most appropriate answer from the options given below :
(A) and (B) only (2) (C) only
(B) only (4) (D) only

(3)

[Question ID = 773][Question Description = Q62_Persian_42_SHAAN_20NOV_S1_Shift1]

A W N -

63)

1 [Option ID = 3089]
2 [Option ID = 3090]
3 [Option ID = 3091]
4 [Option ID = 3092]

Masnaviyat of LBL':(/LEJK l}:’ are :



www.prepp.in

® gl
(€) .Fsujjgffdgb‘”}w

@) b ﬁi.ﬂi:dl,f-;!;!]rﬁ};

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (D) and (A) only

[Question ID = 774][Question Description = Q63_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3093]
2. 2 [Option ID = 3094]
3. 3 [Option ID = 3095]
4. 4 [Option ID = 3096]

64)

L1 & 11 2T e s ooours in-
(4) ;;Jt“j

® b

© Gl

o FId i

Choose the most appropriate answer from the options given below :
(1) (B) and (D) only (2) (B) and (C) only
(3) (A) and (C) only (4) (C) and (D) only

[Question ID = 775][Question Description = Q64_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3097]
2. 2 [Option ID = 3098]
3. 3 [Option ID = 3099]
4. 4 [Option ID = 3100]

65)

The contents of | 7| ';ﬁ; of (j[g has been taken from :
(A) l?J_,J}..:V,f

® AU F

(C) ;I;U!dﬁ/

U A +4’
(D) LﬁJ Aol

Choose the most appropriate answer from the options given below :

prepp
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[Question ID = 776][Question Description = Q65_Persian_42_SHAAN_20NOV_S1_Shift1]

1. 1 [Option ID = 3101]

2. 2 [Option ID = 3102]

3. 3 [Option ID = 3103]

4. 4 [Option ID = 3104]

66) . . .
Match List T with List IT :

ListI List IT
(A) )‘;LSF/’ @ anJJLZng
= P

(B) uﬁJJ m SFL
© i I ezlaDle
® Ay v L 25l

Choose the correct answer from the options given below :
(1)  (A-dID. B)-(D, (C)-IV). D)D)
2)  (A)-dD, B)-D. (C)-IV). (D)-(I1I)
(3  (A-D. (B)-(IID. (C)-(I). (D)-(IV)
4  (A)-Av). (B)-(D. (C)-(II). (D)-(II)

[Question ID = 777][Question Description = Q66_Persian_42_SHAAN_20NOV_S1_Shift1]

1. 1 [Option ID = 3105]
2. 2 [Option ID = 3106]
3. 3 [Option ID = 3107]
4. 4 [Option ID = 3108]
87) Match List I with List IT :
List I List IT
@ A o LA
B sl lfl".'f/:U‘ (ID) 6;!@&&"5
© Qb s am Jbo bos
o Ok W §lJs

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(III), (C)-(ID. (D)-IV)

2  @-@. B)-ID), (C)-11LD). (D)-(IV)

(3  A-ID. (B)-D. (C)-d1LI). (D)-IV)

4 (A)-av). B)-(D. (C)-1). (D)-(I1ID)
[Question ID = 778][Question Description = Q67_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3109]
2 [Option ID = 3110]

3 [Option ID = 3111]
4 [Option ID = 3112]

A w N =

68) . . .
MWateh Tiet T wnth Taet TT -
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[Question ID = 779][Question Description = Q68_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3113]
2 [Option ID = 3114]
3 [Option ID = 3115]
4 [Option ID = 3116]

A w N =

69)

[Question ID = 780][Question Description = Q69_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3117]
2 [Option ID = 3118]
3 [Option ID = 3119]
4 [Option ID = 3120]

A WN -

70)

(A)

(B)

©

D)

@ UL
{an !JUJL:P"B/EU’
am O a1 <

@) e sl

Choose the correct answer from the options given below :

@™
@)
3
@

(A)-(D). (B)-(I), (C)-(III). (D)-(IV)
(A)-(D). (B)-(II). (C)-(IV). (D)-(IID)
(A)-(D). (B)-(D), (C)-(I1D). (D)-(IV)
(A)-(IV). (B)-(D. (C)-(II). (D)-(11L)

Mateh List I with List IT :

(A)

(B)

(€

(D)

LastI
Ol Yl

160k S

List IT
(I} - Lé L./I L‘.JJ/
a o7
@ I

) Jlz2

Choose the correct answer from the options given below :

(1)
2)
(3)
(4)

(A)-(I). (B)-(IV). (C)-(ID). (D)-(I1D)
(A)-(ID). (B)-(I). (C)-IV). (D)-(I1I)
(A)-(D). (B)-a1D, (C)-IV). (D)-(ID)
(A)-(I). (B)-(1), (C)-(I1D), (D)-(IV)

Match List I with List IT :

(A)

(B)

(©)

ListI

Sx~ ol

List IT
@ a2l
an <>

am Nzl

Your P

epp
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Choose the correct answer from the options given below : Your Personal Exams Guide

(1 A-D. B)-ID. (C)-(IV), (D)-(I1T)

2 A-D. B)-IID. (C)-ID). (D)-(IV)

(3  A-D. B)-ID, (C)-(III). (D)-IV)

@  (A)-ID. B)-AV). (C)-D). (D)-IID

[Question ID = 781][Question Description = Q70_Persian_42_SHAAN_20NOV_S1_Shift1]

A W N -

71)

1 [Option ID = 3121]
2 [Option ID = 3122]
3 [Option ID = 3123]
4 [Option ID = 3124]

Mateh List I with List IT :

(A)

(B)

ListI

-

L
a3

List IT
®
an Y5l

am OB

) ek

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(I). (B)-(IID), (C)-(1I). (D)-(IV)
(A)-(ID), (B)-@). (C)-(V). (D)-(III)
(A)-(II). (B)-OV). (C)-(ID). (D)-(I)
(A)-D). (B)-(IV). (C)-dIL), (D)-(I)

[Question ID = 782][Question Description = Q71_Persian_42_SHAAN_20NOV_S1_Shift1]

A WN -

72)

1 [Option ID = 3125]
2 [Option ID = 3126]
3 [Option ID = 3127]
4 [Option ID = 3128]

Match List T with Last IT :

(&)

(B)

(©)

(D)

List I

6.":—1‘]‘.—4-—--"'

iz G-l
LE-J‘:!FL'I;,/:."[

Gar

List IT

(I} Classical Persian Literature
w Sbot7iEbE
(I11) ;,;"J;’éw

(IV) A Literary History of Persia

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(D, (B)-aD). (C)-ID). (D)-IV)
(A)-(D), (B)-IV), (C)-(II). (D)-(IL)
(A4)-(IV). (B)-(D. (C)-(I1I). (D)-(1T)
(A)-@), (B)-AV). (C)-(II). (D)-(I1I)



MN\R/.FF&FE.ER: 3129]

2. 2 [Option ID = 3130]

3. 3 [Option ID = 3131] 'repp
4. 4 [Option ID = 3132]

Your Personal Exams Guide

73) " Match List I with List II :
List I List IT
w O7F D Gl
(B) ﬁbc)‘fh.‘:i!aﬂ (1D (,ubﬂf(ilr
© O am IV
D) MFlyx (!‘u’)fj'ﬁ"f

Choose the correct answer from the options given below :
(1)  A)-ID, B)-@. (C)-IV). (D)-1ID)
2) (A-O, B)-ID. (O)-(II). (D)-IV)
(3)  (A)-IID. (B)-(D). (C)-aD), (D)-IV)
@  @-aAv). B)-D. (O)-dD). (D)-(IIL)

[Question ID = 784][Question Description = Q73_Persian_42_SHAAN_20NOV_S1_Shift1]

1. 1 [Option ID = 3133]

2. 2 [Option ID = 3134]

3. 3 [Option ID = 3135]

4. 4 [Option ID = 3136]

74) . ) .
Match Last I with Last IT :

ListI List IT

@ S M Zt
® Sy 0, A
© (b am 6
D) s @) sl

Choose the correct answer from the options given below :
(1) (A-O). B)-1D. (O)-III). (D)-AV)
(2)  @)-dI). (B)-aD). (C)-(). (D)-(AV)
(3)  (A-D. (B)-AV). (C)-(II). (D)-(I1I)
4  (A-dD). (B)-D. (C)-(ID), (D)-(IV)

[Question ID = 785][Question Description = Q74_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3137]
2 [Option ID = 3138]
3 [Option ID = 3139]
4 [Option ID = 3140]

A WN -

75)  ‘Mateh List I with List I :

ListI List IT

AN .EJL"*.}P? P | -3 I |



www.pre|{o§).in

(©)

D)

P I f}KI;;_._J.v‘ prepp
STy am Sl
JJJ?JJ (IV) L‘}L*/'/LS,?L'?

Choose the correct answer from the options given below :

(1)
2
(3)
4

(A)-(D). (B)-(TII), (C)-(ID), (D)-(IV)
(A)-(D), (B)-(@D). (C)-(1D), (D)-AV)
(A)-(D. (B)-@). (C)-(ID, (D)-IV)
(A)-(D), (B)-(II), (C)-AV). (D)-(D)

[Question ID = 786][Question Description = Q75_Persian_42_SHAAN_20NOV_S1_Shift1]

A wWw N =

76)

(&)

(B)

(©

(D)

(E)

1 [Option ID = 3141]
2 [Option ID = 3142]
3 [Option ID = 3143]
. 4 [Option ID = 3144]

Arrange chronologically :

L:!_f'll C}ﬁ' sp I3

LE.’.;’.JI//"I_J LE]I

w2zl é,f@‘)i;fdb&d,ﬁl@l/’

Choose the correct answer from the options given below :

(1
3

(A). (B). (C). (D). (E) 2 ®). @ ). [D). (©). (E)
(E). (B). (C). (D). (A) 4 (A). [B). (E). (©). D)

[Question ID = 787][Question Description = Q76_Persian_42_SHAAN_20NOV_S1_Shift1]

AW N =

77)

(A)

(B)

(©)

(D)

1 [Option ID = 3145]
2 [Option ID = 3146]
3 [Option ID = 3147]
. 4 [Option ID = 3148]

Arrange the following chronologically as per their period of life :

Lséfdfr,l&
Srslab
A
i

e



Www'pre%%gj%se the correct answer from the options given below : 'repp
(1) (A). (B). (C). (D). (E) (2) (B (A). (C). (E). (D) YourPersonal Bxams Guide
(3) (A). (C). (E). (B). (D) (4) (D). (A). (E). (B). (C)

[Question ID = 788][Question Description = Q77_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3149]
2 [Option ID = 3150]
3 [Option ID = 3151]
4 [Option ID = 3152]

A w N =

7 : : : : g
8) Arrange the following chronologically as per their period of life :

@A

(B) &b/{jﬂ?
© $l 2Bk
® S A

(E) GL‘WI;V

Choose the correct answer from the options given below :
(1) (D). (C). (B). (A). (E) (2)  (A. (B). (C). (D). (E)
(3)  (A). (O, B). (E). D) (4)  (A). D). B). (C), (E)

[Question ID = 789][Question Description = Q78_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3153]
2 [Option ID = 3154]
3 [Option ID = 3155]
. 4 [Option ID = 3156]

A wWN =

79) Arrange chronologically :

(A) LE_.:LJ;
® 6HaSi

© obila
@ ball

(E) LE/,-:z‘llc:#Lﬁ!}

Choose the correct answer from the options given below :
(1) (A). (C), (B). (D). (E) 2 A, B). (C). (E). (D)
(3)  (A).(B). (E). (D). (C) 4 (A). B). D). (). E)

[Question ID = 790][Question Description = Q79_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3157]
2. 2 [Option ID = 3158]
3. 3 [Option ID = 3159]
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@ Sl 217
® Oob
© Z1e

o Jbrabl

® s

Choose the correct answer from the options given below :

1 (A, (). (B). D), (E) (2) A). B, (O). (D). (E)
(3  (E). D). (C). B), (A) (4) (D). (C). (A), (B), (E)

[Question ID = 791][Question Description = Q80_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3161]
2. 2 [Option ID = 3162]
3. 3 [Option ID = 3163]
4. 4 [Option ID = 3164]

81) Arrange the following chronologically as per their period of life :

@ ELg s

(B) ;}fclus_;;&

(©) (_5:5;?:/
(D) 5;=BJ

(E) dﬁf:lﬁri,ﬂ

Choose the correct answer from the options given below :
1 A). @B, (O). D). (E) @) (B). (A). (C). (E). (D)
(3) (A (C).(B). D). (E) (4 (B). (A). (D). (E). (C)

[Question ID = 792][Question Description = Q81_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3165]
2. 2 [Option ID = 3166]
3. 3 [Option ID = 3167]
4. 4 [Option ID = 3168]

82) Arrange chronologically :
» & ® SOl
© ML ®

Choose the correct answer from the options given below :
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[Question ID = 793][Question Description = Q82_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3169]
2. 2 [Option ID = 3170]

3. 3 [Option ID = 3171]
4. 4 [Option ID = 3172]

83) Arrange the following chronologically as per their period of life :
@ QOlF ®) | L:f'L;Lfé
© O o Eil2Jles

Choose the correct answer from the options given below :
(1) (A (B). (C). (D) (2) (B).(C). (D). (A)
(3) (A). (D). (B). (C) 4) (B), Q). (C). (D)

[Question ID = 794][Question Description = Q83_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3173]
2. 2 [Option ID = 3174]
3. 3 [Option ID = 3175]
4. 4 [Option ID = 3176]

84) Arrange the following chronologically as per their period of life :
o = = -
(A) J:: Jf (B) .ﬂ}.u'{ 3
© Gl (D) J:I/E:J-l

Choose the correct answer from the options given below :
(1)  (&). (B (C). (D) 2) (A, (B). (D). (C)
(3) (A). (C), (B). (D) 4) (A, D). ®B).(C)

[Question ID = 795][Question Description = Q84_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3177]
2. 2 [Option ID = 3178]
3. 3 [Option ID = 3179]
4. 4 [Option ID = 3180]

85 .
) Arrange chronologically :

@ O ® 6}
(©) GE[& @) s

Choose the correct answer from the options given below :
(1)  A).3.©C).D (2) @M. (©).@B). D
(3) (A). (D). (C). (B) 4 A, D). ®. (O

Py ae aEn -—rn s WP a® mm e _ae ST B 8 2en mEE A ARE MALIINLE g amE ol aw

prepp
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4. 4 [Option ID = 3184]

86)

Your Personal Exams Guide

Given below are two statements : one 1s labelled as Assertion A and the other is

labelled as Reason R

Assertion A a»Q}fd_JlfLﬁﬂ?g/{f:&:LfﬁL‘/

Reason R : MJ,JCIJ;d_Jfﬁ_“Jéé/dJL}U:/f

In the light of the above statements, choose the correct answer from the options

given below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s the Not the correct explanation of A
(3) A 1s true but R 1s false

(4) A 1s false but R 1s true

[Question ID = 797][Question Description = Q86_Persian_42_SHAAN_20NOV_S1_Shift1]

A W N -

87)

1 [Option ID = 3185]
2 [Option ID = 3186]
3 [Option ID = 3187]
4 [Option ID = 3188]

Given below are two statements : one i1s labelled as Assertion A and the other is

labelled as Reason R

Assertion A _4.'-')..:..’ jjﬁ/l;)éi[édﬁ

. & . ./
Reason R . Eesst TJIJJ!:Z}.:.;,J/J) 2203 3l

In the light of the above statements. choose the correct answer from the options

given below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R is the Not the correct explanation of A
(3) A 1s true but R is false

(4) A is falze but R 1s true

[Question ID = 798][Question Description = Q87_Persian_42_SHAAN_20NOV_S1_Shift1]

A w N =

88)

1 [Option ID = 3189]
2 [Option ID = 3190]
3 [Option ID = 3191]
4 [Option ID = 3192]

Given below are two statements : one 1s labelled as Assertion A and the other is

labelled as Reason R

A saambaaan A . o )/_4? ?f'i’ JE e f’,r /#l:.;f.LﬂnF}'.[.-af- ﬁl’;h



www.prepp.in

Reason R : 9’ b.ﬂ EJAFJ }'| L LD}L/' L}i v'.r%eg

":

In the light of the above statements. choose the correct answer from the options

given below :

(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R 1s Not the correct explanation of A
(3) A is true but R is false

(4) A is false but R 1= true

[Question ID = 799][Question Description = Q88_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3193]
2. 2 [Option ID = 3194]
3. 3 [Option ID = 3195]
4. 4 [Option ID = 3196]

89)

Given below are two statements : one 1s labelled as Assertion A and the other 1s

labelled as Reason R

g s w2
Assertion A : &0/ ;[é-d;f,-jldﬂlf&bfaﬂ{

Reason R : n...wf:y'J.fi/"”L..fﬂ’LEUIf’J.fl lLSL-

In the light of the above statements. choose the correct answer from the options

given below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is the Not the correct explanation of A
(3) A 1s true but R is false

(4) A 1s false but R 1s true

[Question ID = 800][Question Description = Q89_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3197]
2. 2 [Option ID = 3198]
3. 3 [Option ID = 3199]
4. 4 [Option ID = 3200]

90)

Given below are two statements : one 1s labelled as Assertion A and the other is

labelled as Reason R

Assertion A : & (_‘,:).LJ J/f‘;_/_',"ﬂdj ”{ﬁgﬁ}ﬁ_)dlj'&/fzf;ﬁ”

Reason R : &’Q)id,ﬂ'lfujqf?d}.c,[f

In the light of the above statements, choose the correct answer from the options

given below :

(1) Both A and R are true and R is the correct explanation of A



www.pre(%).in A is true but R is false 'repp

Your Personal Exams Guide

(4) A 1s false but R 1s true

[Question ID = 801][Question Description = Q90_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3201]
2 [Option ID = 3202]
3 [Option ID = 3203]
4 [Option ID = 3204]

A W N -

Topic:- 42PERSIAN_B

1)

Read the following Passage and answer the Question :

¥ 250k ;L‘r'ﬁ‘JJJ?:IJJG}JJ,,J:J*IM,L;%.L&;J, Q15 s Blas 5171
L_:“Eia.afyd_fjl} :}/__/LE;H:.«/;L}DZJJZ};L-..:}LJJMJ(_Séli'u,'f}:"’,ylur‘?gj»fd/:‘
L}“BTHJ@}';DJ;&}(Hﬁbﬁ}i}:ﬁdl'a’ !;;I?lef)bﬁswé'blﬂlgs&j-ﬁf’:bdd{:’:
;lﬁ;ﬂb’,@ﬁ“almﬂb#;wndr;ub,::';mr;ui’rnm;w;b—dr;;ﬂvur:_;;&?g
?SU-F?LE""JFJffél:},vfréaiulf.:.-:bf.:fu 3/ a3 '&i_yé,vf’iLwdjgs)g_t.;plp;b-aificwhf
fJJ,{Lb.‘,L}ﬁl’i‘p‘_ﬂ;;ﬁdf}ﬂfﬁbﬁ?@!ﬂf-il?d “dfjl?l’.fﬂz?.;‘;@%ﬂ mr;.:.:‘:r:d:_t,;
A#LE,«.'{.J;:J/f?(_‘;_!,éLS:";,,L;U:;:'-i:@;r}fdbﬁsﬁ‘asﬁébwbﬁﬁﬁ)_.:;;’-...m:’c)'f

_ BB O 056 Pl N a2

Sl gl | 22t s s
(1) fﬁ;;fﬁ_‘,sm @ 3Gk

(3) L}L’?i)’rﬂ 4 szszi))"h)

[Question ID = 802][Question Description = Q91_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3205]
2 [Option ID = 3206]
3 [Option ID = 3207]
4 [Option ID = 3208]

A W N -

2 : ;
) Read the following Passage and answer the Question :

L aF il ;blﬂﬁjops.._.aalJ;d}sjfsc.ﬁl;,;utw.f/f al:’-ug‘_‘)iﬁ 104
L_:“;,u?:u"yd_fjl} :/Jd;lfiaf&lﬁ:ﬁ;L-:ﬁLJm;@G‘g‘fﬁgb;ﬁ?,,jg;fdﬁ
L},BTUL;’?¢:F:ﬁf&f}rblﬁbﬁ;mﬁd[3’ lul‘.-'l,:'»'al;ﬁ;?i;;;;f}'blﬂﬁ.e.i)-x}ébdys
;u,&ﬁ;fib’ffil,h’»""a.u&p}’aﬁ,u;pdr;;;b,a;rnr;ui’rmwbd»trdr.i,‘»rq,vUr-;_;;Lé?L

fﬁﬂf?byf;:)ffL]}I;?/fgamlfajbIaﬂ} 3/ Jas -Ji';;,fingdgu,gbl";u.:.{ftufj

5 & i u gy | T o
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(1)

(2)
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(4)
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[Question ID = 803][Question Description = Q92_Persian_42_SHAAN_20NOV_S1_Shift1]

A w N =

3)

(1

2

(3

(4

1 [Option ID = 3209]
2 [Option ID = 3210]
3 [Option ID = 3211]
4 [Option ID = 3212]

Read the following Passage and answer the Question :

IOy gV P ;ﬁblﬂﬁjapsyamd}ﬁ,:cﬁbﬂ; La’._,/.f Qf uoi,«ﬁ P04
L_:“i,a?:u"yd_fjl} 3/J{5;[;ﬁ¢fﬁ}iﬁ:ﬁ)@-;{kp’lyJ(_Séﬁi'u,'fﬁ,u“:b;f‘?g:vinfdf
QA ETLI Mﬁ)f)b/dff(‘t‘lkt‘/!”);ﬂdg a5l o b’m;:ubﬂﬁ C’:IJQL}{",«
;uﬁmb’fo,b’/‘;.u_ﬂu..;-ﬂ’,u;;pur;,,!.‘;;mr;u w;bd,utr bl T
;U‘?Lﬁfg:ﬁ,,le:}ﬂrgamlfajbfafu 3/ Jas Lgi-;ﬁﬁfi’,m}d‘igu,gp&;b-:i:ﬂ;urgf
234040 LBl s O3 71 2l Z5F N il 7§ “u.‘.”i:.-r,_}”;?:;g?ﬂ sl sl ($sL
,‘:{Lﬁii;.;;;J/,f(}_!.é(_S:"’;,,Lm:ébf,,;flfé}dbﬁs@:ﬁébd!;}t’&ij,w’.....-wr’g;}flﬂ

_ B30 (b 3.5 P 5l st N a1

e S F ek B O a2

JL;JL&Eﬁflt:
- 5!:&:.5@'[;5} LJL_:J
b "E’FJL"}'IJ.’LB_LL@QA{.:

df; JIEL@»J.L&
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4. 4 [Option ID = 3216]

4)

Read the following Passage and answer the Question :

I gV P ;L‘l"ﬁJJJEJ}IJJd}JJfJQ'—H}L LA’._,/J Ql uoimf s o
!._:“iﬁaifyd_fjl} 3/.,,/{5;@:.«/?&&[32313}@_.:}&@'3,.#Jdéﬁ'g'fﬁgl/;f‘?c«:v;»fdf
Q ET L‘fMﬁ)!ib/&f}r‘t‘lkt‘/}”};ﬁdg Ll o Km;:ulﬂﬁw) dljut}{"s
;nﬁ;lzif/&ﬁf‘a.lxanfaﬁ;u;ndr;z;bﬁ,r;;r;u“w;bd;&L';r;al~Lvur-;_;,-L+?L
;U‘?Lﬁfg:ﬁ,,L]}I:/'@/fgabjlfajuafu 3/ s 'Ji-;iﬁfi’,m}di;u,_lsbl;’;b-:i:ﬂ;urgf
.JHIL..LBJ«EFLJL;:U Faf el 25 g 8 "J"JI, )’..JL!‘{C; Lalse 2 (Sl

,du,w;n)/ U_Lu(j:”;,.’b,w!:.abf;r/,ubﬁ"sw’: o ‘!;/"UUHJ’JJ“/

-
3

B30 i3 dar 3.5 P 3l st N s

?Jlujf.:.«:l;l:.wni

(1)

(3)

df;}i!p/:f 2 dl_frﬂ-‘!l!‘;?;m,,

/”t"’r"i‘*’*”ﬁcf (4) J"/’.{wn

[Question ID = 805][Question Description = Q94_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3217]
2 [Option ID = 3218]
3 [Option ID = 3219]
4 [Option ID = 3220]

AW N =

5)

Read the following Passage and answer the Question :

¥ w250k ;Lar-ﬂhJ;_,;u,;d;;;f;cﬁnj,:,utw__/, QI s Blas 5171
L_:“Eia.afyd_fjl} :}/__/LE;L:%:.«/?EL}DZJJZ};L-..:.}_LJJMJJUQ‘I#&L;(‘@?»JG%
QET L‘fyﬁ};;U/&f;#blybf}U:f‘dE’ Ltz b’uuaul;ﬂﬁ C’:IJQL}{":
;lﬁ;fib’f&ﬁ"é.uainj’aﬁ;mdr;‘wl»,::';mr;u“w/‘-bd;E-L'pr;}lnj,vm:_?;&?g

?SU-F?LB'anffél:},vffgaiulf.:.-:bf.:fu 3/ il as '&ilf,ufiL;s;‘{j,igs)g_t.;p&pglj-a,{:ﬂcwhf

fJJ,{Lb.‘,L}ﬁl’i‘p‘_ﬂ;;ﬂdf}ﬂfﬁbji?&y!;_vf-il):’(_; “L'jf]l?f'.;ﬂﬂ.’;:ﬁ.t%_*) mr;.:..:‘:r:d:_t,;

,aﬂu,«?;u)/ U_def}.vh.!hﬁbf ;r/f ,ubh/’"mjsyububﬁ""&j)ghfg?’t}f
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[Question ID = 806][Question Description = Q95_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3221]
2 [Option ID = 3222]
3 [Option ID = 3223]
4 [Option ID = 3224]

A W N -

Topic:- 42PERSIAN_C

1)

Read the following Passage and answer the Question :
f - 3 g '1 o - *
/:f'/d; 28834 Ik Jlfm'ldﬁaﬁff}ljjlﬁfs’ay Js_f’dffb}fUWfU/
;)al;dfﬂ;:}La;l{d"un:}/f)rf}u'}LJJJJ&)"TJIDGJI/PJ s’ Ll F
Lﬁ/L"JJET»d/;‘ébIJ)’-cﬁlfﬁjyg?/u:m/ Thses sf;ﬁﬁurxb:gtfk:ﬁwﬁ
o BBl g bl s WIS 2 St ssf P DS et
S0 Qs s 2 s lad Pl R LET 1A 32 sk ST oo Lot
/ )V y o b ; : vl
J/..:.«fh._.fe’df;;:f5@6}?:3}?’,{!L:a-sf:uijisbr;d;;'sd;hwﬁ;:;:?J;K;._.dlfﬁﬂ
" B . . 1 "'.ﬁ"’_:jf’ i - :': & Fa o 'uI.'l' 2 5f
iy 3}J|IJJJJ7"'«:.+_:'-J|/¢'JW Tz szl i SIS 18 " Ok 2l
-&Idﬁ:&_{:;f.}p{ffbﬁjjcﬂ!‘#.{Tciafd;ﬁuﬁf‘?&f
€k QLIS 75k

@ 'LBW;J @ i

@ (S (4) L,?/:J:*"';L,d!.;'-.-?

[Question ID = 807][Question Description = Q96_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3225]
2. 2 [Option ID = 3226]
3. 3 [Option ID = 3227]
4. 4 [Option ID = 3228]

2)
Read the following Passage and answer the Question :
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;;al;dfjb:.’.L.;wl.;’;_}"u:::})ﬁf)lﬁf}u'}LJJJJ&:’TLFBLEJF/?L,J»; g’ 'repmp
Lﬁ/ﬁjﬁﬂ;d/{ébﬂr -aﬁlfﬁbwﬁﬁ u":ﬂ/ Tl ses :L{_Sﬁuubz._._/tfk:ﬁ Y-
o Bl Fhss g bl s WIS S st o MRV Daf et
B2 Qs 33 2 lont A A BT s2b A S5 sl ST oo ? s
J/..:/L._..ﬂ:f‘uf.;s}:fJLIFLS:E:J/-}/,,‘IL;{ﬁuﬂjisbr;d;’bsd;}}wﬁxasz?ﬁrr’}-b’;._.dlfﬁﬂ

A = :;.FLUJ;Jfaﬁtsl'ﬁjﬁf,}jfﬂﬁr};jb:fﬁJI/':,A.-’L—J;[ﬁl{j}bcﬂf-}l? “LBL“}/-«;”LJJ'

-mldﬁ:&_{:;fﬁ:f@gﬁ'ﬁﬁ!‘#.{Tcﬁ-fuﬂysfﬂt’.&,{:

i 5L LG E g abler 2 sl

@ B @) u“'urf au‘;’LJ
® G @ 3

[Question ID = 808][Question Description = Q97_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3229]
2 [Option ID = 3230]
3 [Option ID = 3231]
4 [Option ID = 3232]

A WN -

3)
Read the following Passage and answer the Question :

2 A 56 s M e §5 85 5 2 fivsae o B OIS 2
;)aI;J'/JUJL..;L(u un.._.«-/f/ff}u LJJJJJJ"FJF;(_E r/-»L, 3,"'"' e F
Lﬁ/L"JJET»d/;‘JbIJ)’-cﬁliﬁ?i};pﬁp V":ﬂ/ Thses ,LL&:WL:I;:._.,/L&L# VY-
< 2 B _JL..,M»‘LJ"'.,» Mu/’ul fﬂ};}‘fUL‘LJMU w4
B Qs 333 2 lont M A T sBb A S5 sl ST oo ? s
J/..:.«fh._.f{-"u’l;;;:f5&6}?:3}?,{!LM;{_JHM?G;"T’;J%JW‘E;:;:?,«g";b’;._.dlfﬁﬂ
A :;.Ifmdfw:l’ﬁ:ﬁfﬁfﬂ:ﬁr};«;bmilﬁyl;—u&;bﬁld;bc,rif-;l? "{:Blf'}/-""ruf

-:-wld?bu:a_{:;fﬁséfﬁy'fﬁﬁ!‘#.-{Tcyfuf,y:,g‘?&;:
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[Question ID = 809][Question Description = Q98_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3233]
2 [Option ID = 3234]
3 [Option ID = 3235]
4 [Option ID = 3236]

Prepp

ersonal Exams Guide

A w N =

4)
Read the following Passage and answer the Question :

/::‘/-ﬂ; s s Jlf:.«f'ld,gadﬁ‘éjl/;"}ﬁ:éy Js.f’dfjﬁ}f&wrd/f
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[Question ID = 810][Question Description = Q99_Persian_42_SHAAN_20NOV_S1_Shift1]
1 [Option ID = 3237]
2 [Option ID = 3238]
3 [Option ID = 3239]
4 [Option ID = 3240]

A W N -

Read the following Passage and answer the Question :

/_-:'/-d; ICTIRT RO Y- JIJ/.:.-A d/f(-‘-a{_fﬁ‘é}l/fjlﬂfﬁy JJ./*";H/F&H JWIG/{J
;»I;-J.'.!J'U:J_L...:.uL;’L,P;;:J:}ﬁ)rfw‘sL;sﬁi)oiffjf;d:f/?b“:;r"”;g,df..:’bL/'*
L'Eflf;'lif.ud/;‘ébﬂ:’-c.fﬁljjlfjm,,& J:ﬂ/ ATl s ,rJstub,-gu.«b,Lf Y-
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[Question ID = 811][Question Description = Q100_Persian_42_SHAAN_20NOV_S1_Shift1]
1. 1 [Option ID = 3241]
2. 2 [Option ID = 3242]
3. 3 [Option ID = 3243]
4. 4 [Option ID = 3244]

Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:92
Sales (SA) 12% 53
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% ]

ffafed aifers = faam fifse f5om o fog 5o ad | om = fafim &t © e % s =1 sfam
(%) faamo qun wEu-ufzen FefEE wAoE S@r T 2 '@ @ % Fe Feiee f e 80 @ R
ATt § T2 U SATHS] % YW 9 yvT % 391 alAu)

” ’ " :
WA = e =1 Haan G

wiawr (%) foeer | ge-afeen sgae (g7 )
a1 (TE 3) 15% i
Ty (ug ) 12% 5:3
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=7 (=1 &) 6% 3156
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What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)

(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

Tt &1 i e gy FEee i IfiEd e #4027 (9Eed & 3 9 9F)

(1) 6.39 W@ (2) 4.69 @@

(3) 5.96 @G (4) 7.48 @@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 32
Sales (S8A) 12% 52 3
Construction and Maintenance (M) 9% 5:4
Profezzional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% 1D

fAfafias aife w0 fomm fifsw fom oF 52 5w ad § oem & f&fem &9 8 ave % Feee # faea
(%) femmo @1 gEu-fEen wee wqaE Zmen T 2| @ S % B Seee F e 80 @ 2|
Alfer=hl ® T2 710 377 = YR W UvH = S g1ty

e (%) oo | Ee-afeen o g | (( 7: 7 )
= (uE ©) 15% 359
T (T T) 12% H:3
fmtor #iw srgeam (o) 9% 5:4
mHEeEE (i ) 18% 57
auF (UH 1) 21% 3:4
Ieared 3R ufEea (d &) 19% 58
=7 (=1 &) 6% 3156

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

sector?



WAk 2A8Bp.in(4) 80%

T E AT 4t AW #E § S Gfeen e i Fe Bem 9 vY e o w5 WY wEEe f e w5 'repp
: . e %? Your Personal Exams Guide
1) 330% (2) 318%

(3) 320% (4) 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrmbution M:F)
Service (SE) 15% 32
Sales (S8A) 12% 52 3
Construction and Maintenance (M) 9% H:4
Profezzional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% 1D

FrfatE e = fa=m fifsw 5o o 57 50 99 1 W = f5fim o § 9ne F e 5 At
(%) femmo @1 gEe-wfEen weEE @gaE 2@ T 2 @ S % B Seee H e 80 @ 2|
ATl & T2 710 377 = YR W UgE = S Siey)

e (%) oo | Ee-afeen o g | (( 7: 7 )
= (uE ©) 15% 359
T (T T) 12% H:3
fmtor #iw srgeam (o) 9% 5:4
mHEeEE (i ) 18% 5:7
auF (UH 1) 21% 3:4
Ieared 3R ufEea (d &) 19% 58
a7 (=1 ) 6% 4.8

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

UH U ST UA U EA H e YEd wee il $e wer Ot 21 & § e s i el T w1 e
oA afaea 27

1)  82% @) 87%

PSRN Q0L Ay QR0L



WWW@%@%JQ = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given

vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector

Workforce of India

Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (S8A) 12% B 3
Construction and Maintenance (M) 9% b:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5 G
Others (OT) 6% 3D

frafafes aifeas = fa=m fifse f5om o 57 5o ad | 9w = fafim &t & o & s =1 afaem
(%) Taemor qun geu-ufeen e SO SHE T 2| Wi & % Pl wEwd ) gen 80 w2
ATt § T2 U SATHS] % YW T YT % 391 alrAu)

A % FEEE 1 EFaan G

sfeera (%) foowor | geg-wfeen sga@ (309 )
Fa (TE 3) 15% i
Ty (ug ) 12% 5:3
fomto aft srgeem (o ) 9% 5:4
TrpeEe (d #w) 18% 517
TaYT (T T) 21% 3:4
Seareq A ufEE (4 19% 5:3
W= (=7 7) 6% 3:5

prepp
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The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce

in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

UH U 3R UH U HE ° WG Gieen e i Fel S S 0 F A9 4 e wieen FEee i we #w5

(1) 5.1 =M

(3 5.7 ¥ @

(2y 7.5¥mM@3

(4)

13.2 =g

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

5) Consider the following table that shows the percentage (%) distribution of workforce of India



www.ﬁr‘:éﬂfp.ri];‘f’tal workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question : 'repp

Your Personal Exams Guide

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fra
Others (OT) 6% *h

FefetE aifer W fa=m fifse e o 57 50 99 3 7w = f5fm & § 9ne F e 5 i
(%) fammo a1 gEe-AfEen HEee waE @ T B '@l & % Fe wEee f e 80 O 2|
ATeTRT § T4 U SATRS] F YW W UTT F I A

stferrar (%) fereon | gev-wfeen s (309 )
a1 (uF ) 15% J: 2
e (TE ) 12% 5:3
Fmior afft sream (& o) 9% 5:d
mHeEE (i Hw) 18% 5: 7
a9ET (U ) 21% 3:4
Ieared ¥R ufEea (d &) 19% 58
31 (=1 #) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 :39 (2)16: 37

(3)16:35 (4)16: 39

ot w9 &7 § FEET aiEen FEwa H T R W AR vd o F A § FE wm FEea B g w5

ST AT B 7
(1) 17:39 (2) 16:37
(3) 16: 35 (4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

HEATA % om0 © g S FER A gEe B 9 e AR I S e Wi Wl 2 7

(1) =@ = (2) ZrEE T

Pl s iak e = 7 AN — e



wiRKSpR B, = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1. 1

prepp

[Option ID = 8045] Your Personal Exams Guide
2. 2

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frefefiad Fo gl womm aumal $ 3=t 2 e semmm mad fafiea ot % sew 9 fafme e

T 2| 3 T W SHEER ST i FHA ¥ T I wE H FHAT SHaEn SHEE % S A6l 8

(A)  sTeA-aa (dme)

(B) e

(D)  ==mEY

(E)  A8rEar

= fau o faseat § | wEl 39 1 =9 FirAw

(1) (A =k (B)
(2 (B) ()
(3) (D) =N (E)
(4)  (B) 3 (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (l) Using Swayam and Moocs

(B) Open and distance learning method (Il) Programmed instructional packages

(C) Individualized method of teaching (lll) Modular instructional material



(1) (A)-(1), (B)-(l1), (C)-(H1), (D)-(IV)

(2) (A)-(1), (B)-(1v), (C)-(1), (D)-(IN)

(3) (A)-(1V), (B)-(l11), (C)-(11), (D)-(I)

(4) (A)-(I1), (B)-(1), (C)-(IV), (D)-(l11)
-1 % mry G-I =1 foam ifse) g1 8 3=3 wifimm g § foam i ffam & 02 2, 5=t g3
11 4 wfrm fafe 1 vyEeiaa g H a5 4 7 2

(A)
(B)
©
(D)

= f2u o A § | ®E 3T F =9e FAu

(1)
(2)
(3)
(4)

T-1

ATHA T 1 FAGReE G
T SR e st ffg

foregor i s fata

(A)-(D). (B)-(ID), (C)-(IID), (D)-(TV)
(A)-(IIT), (B)-(IV). (C)-(I). (D)~(IL)
(A)-(IV), (B)-(III), (C)-(11). (D)-(T)
(A)-(ID), (B)-(I). (C)-(IV). (D)-(III)

gorrect answer from the option given below :

whReIR A

prepp
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T
THTESEAAT wEH i AFAE

(I) =599 31 q38 F1 7=

(II) st Aemmens e

(I1I) Aisge AI3AeAF At
(IV) wi==l =+ wra-ary famees oo

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements
Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and

abilities.

Statement (ll) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (l) and Statement (Il) are incorrect
(3) Statement (l) is correct but Statement (ll) is incorrect
(4) Statement (l) is incorrect but Statement (ll) is correct

FU (1) :

=y (1)

Iqetey o7 sAfgEmar e = afEnfiT % 7 R I aga i S diEn w

FEgME wafhe wa 3R waiE =fwae wen sfenfiEl & e seEs 3 o w

A FH % T4EEE 8 490 e 9 A

W FUA AT |, 4= 70 0 e 8 6 weE 39T 3 6 =9 S

(1)
@)
(3)

(4)

F9 (I) #0 (I1) 341 =27 2
Fyq (D) #17 (ID) 241 74 21
Fu (1) w8t 2, =i FoF (1D) 7o 21

= (1) Toid 2, =R % (ID) =51 2|



estdom i} = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
Wm? Opt%E @= 8057] 'repp
2 [Opt]on ID = 8058] Your Personal Exams Guide
3 [Option ID = 8059]
4 [Option ID = 8060]

AN w N -

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

F= =1 wue fou w B vw wfaE9 (Assertion A) F ®9 ¥ fofgd & A LR 3u% F0 (Reason R)
% w9 H

wfiEpe (A) o A anygfree sfi g @ A smaE geEE gl = Al s st i
F1 T2A9 FAA 2|

FW (R) : foredt wurht foreror memar wonedt = At afifEata d gaw F @y w@g e S
=tET|

I HYH & W °, 4 2 e el | 9 gd 3 o 999 it

(1)  (A) 31 (R) 3H1 Te9 & 21T (R), (A) 1 et =g 2

(2)  (A) Fi(R) 3T Te7 &, wiA (R), (A) Ft oel =g == 2

(3 (A) T 2, wfEa (R) 9809 2|

(4)  (A) 3@ 2, W (R) 79 2
[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1 [Option ID = 8061]
2 [Option ID = 8062]

3 [Option ID = 8063]
4 [Option ID = 8064]

A WN -

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

TrE TR % Ty | UiHETi-uiEes = ueEitEd e S E v

(1) et g (2) fETfaE
(3)  =AEETEE WY (4) TETEEE Ty

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

e e foet wfeorta o b sifegfe 71 ofe % w0 A A 2, i A et 3§ 3 e e

o, 3
—_ T T =
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(C) =Emw =
(D)  faeta fafy

(E) =& fama

= fo T famedi ® @ w3 = wEE A

(1)  (A) R (B)
(2)  (B)#HR(C)
(3)  (C)#Rr (D)
(4) (D) W (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1 [Option ID = 8069]
2 [Option ID = 8070]
3 [Option ID = 8071]
4 [Option ID = 8072]

A wWw N =

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List I  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1n), (B)-(IV), (C)-(I), (D)-(1)

(2) (A)-(), (B)-(1), (C)-(IN), (D)-(IV)

(3) (A)-(In), (B)-(lI), (C)-(1), (D)-(IV)

(4) (A)-(, (B)-(1), (C)-(1N), (D)-(1V)

-1 = w19 g=-11 1 fiem Fifae) g1 8 w9 & =2 950 2, S0 got-10§ 39 g 95 T E

7=fi-1 T=h-11
Y = = T H AT AT A
(A)  FwE g (I) 73! T AR SR T S
(B) ufmewn fmim (I1) == Te T2 & 3HEA1 H 0
(C) wiF==a ufF =1 =93 (III) =M= % &% 9 g7 799 23
(D) s fage (V) =4 % =01 % di= Feg wonfua we

i f3u o famedt | | wé 3 w1 =g Hif

1) (A)-ID. B)-AV). (C)-(ID). (D)-D)
2 (A)-D. (B)-AI). (C)-(III), (D)-AV)
(3)  (A)-(D), (B)-ID. (C)-@), (D)-IV)
4 (A)-D. B)-D. (O)-aI). (D)-IV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements



wiiligfepp.in
Statement (Il) : Research ethics and its observance is mandatory for all researches. 'repp
In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (I) and Statement (ll) are true
(2) Both Statement (I) and Statement (ll) are false
(3) Statement (I) is true but Statement (ll) is false
(4) Statement (l) is false but Statement (ll) is true

F= 21 =y fRe T -

Your Personal Exams Guide

w1 (D) : U WE-TEE T WY -UT H oigd Hi HEHA % ey AR U] % si" i Sqr T8
Fo (II) ot wEdt s wR 3 ST w4t e * o afEe 2

IR HUA % AT °, A 3 e el | 5 wE 3 F 99 i

(1) =y (I) W (1) 241 & 3|
(2) = (1) 31 (1) 3T w7@ed 3
(3)  =ua (1) ucd 2, =i e (1) 3150 2

(4) = (1) 99 7, witwa waa (1D 909 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

I 21 F99 f2r u £ ;. v wfiwYA (Assertion A) F %9 H fafiga & @ E 39% #n0 (Reason R)
FETH -

ATERYE (A) et wg aferewn (Hy) =1 Feerofie afmesn (Ho) =h @emear o qhEm B s

=i
F (R) : ita wftweqar (Hi) =i ashaiid =i Afugfe dig =9 3 =81 i 51 gedi 2

TUE YA & A °, = 2 e famen § 8 wey ugs I 6 99 i

1) (A) I R) IA HE 7 G (R). (A) F T ==

(@) (A) AR R) IA FE 7, = (R). (A) F HE == T G
(3) (A = 2, @i (R) g A9 2

4) (A wE E R, = (R) TR

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1 [Option ID = 8081]
2 [Option ID = 8082]
3 [Option ID = 8083]
4 [Option ID = 80841

A W N =



Www.&wly_a{.par Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

AT UH TiTe Tedsh av U8 UE feaw fetatad § 9 et w e e 7
(1) 30 S (2) 30%g
(3) 15 I (4) 15 Fa==%

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

| FmmTT 1 od-faeE (S) "Let truth prevail” #7

(1) 13 =2ema (2) =TETH SIF SrEAT
(3 ff=m (4) =fg

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1 [Option ID = 8089]
2 [Option ID = 8090]
3 [Option ID = 8091]
4 [Option ID = 8092]

A W N -

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

prepp

Your Personal Exams Guide

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is

decreasing.
Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct
(4) (A) is not correct but (R) is correct

= 31 =y 2w U E ;v wiEUe (Assertion A) % FY H fafia 2 A ELaL 5% FA0 (Reason R)

FEYH

AR (A) AT THR (FT5FRE) AUaTHa AieE TEHIE S AH0E B #, T A8 s

! ISTE © SEH UHE UL @ 2

FT7 (R) : SeeE TERY (S difea W AsEi 2 i e v 2

I FYT F A A, 49 70 e § 8 g9y 3w S5 R =9 Fifan

(1) (A) 377 (R) M1 T8 2 370 R). (A) F1 w2 =m0 2|

(2) (A 3 (R) 3AT = 2, = (R). (A) i 9 =men 99 2
(3) (A WA 7, W (R) 78 4 2

(4) (A =E TE R, @l (R) =E 2

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in

what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.



whhe: jfnost appropriate answer from the options given below :
(1)3?)%5?5(5) only prepp
(2) (B) and (C) only Your Personal Exams Guide
(3) (C) and (D) only
(4) (A) and (D) only

SHEER % 9 &7 £g MUFHl U AqEdies (50 Tw | UF URiE s a wrast afed 5u7

(&) = fagm At = ama @ = F
(B) ¥ wATE SETA F9TE F g A 21 % )
(C)  a7efER 1 o el 1 T " 6 )

(D) =& gron A+ = fag & difsm =1 gew e s 2 2

T fou o faewi ® @ weE U I 1 = A0

(1) = (A) ¥ (B)
(2)  Ha (B) 31 (C)
(3)  FF¥ (C) 3 (D)
(4) e (A) #Hi (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

i &t € g § I mEmw i mEEeE aene wi At fif)

(A) TR
(B)  oTgwaa
(C) TIwE
(D) o=

(E) = =1 9 541

Hre fou 7w fasheqt @ § @E 3T 0 =g i

(1) &= (A), (B) 3 (C)

(2)  Faa (B). (C) 371 (D)
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[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN] I
1. 1 [Option ID = 8101]

2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

U 94 % S UF UHER W A o1 o0g S 3 BEEl | 4000 9, 36 AT 4 HEAl § 4500 T
# #Afm 5w #5000 T A1) I =W AW F A FA w=4 5000 T A A 3@ qfEwR A ostEn
T 24 TehaAT o7

(1) 3000/~ == (2) 4000/~ 7

(3)  5000/- =5 (4) 6000/ =

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1 [Option ID = 8105]
2 [Option ID = 8106]
3 [Option ID = 8107]
4 [Option ID = 8108]

A WN -

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 ® 90 w s # B AT "Emel = AEd 9an -

1) 765 (2) 98.25
(3)  55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% =R 33 T 39 g9 W 11 e g9 W fawa gem % sve @ Afdq Far 8| Gfowa #§ @
QQ

1) 25% (2)  50%
(3)  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3)5% (4)7.2%

72 feft 72g 1 =7Ta gog =E fawa geg = 95% ® °t =y i afdwEar = et

(1) 4.26% (2) 5.26%
(3) 2% 4 7.2%



' = 8117
W@%ﬁﬁﬁf& 8118} 'repp
3. 3 [opt]on ID = 8119] Your Personal Exams Guide
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

afz s =afw et aeq #1 25% vfawa #2149 @ 39 1200/ - 04 § &=a1 2 A1 30% = " FAE F
fou 3@ 2@ awg =t fem Fma w s= =T e

(1)  1600/- =94 (2) 2000/- =53
(3)  2080/- =w (4) 1560/- =

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1 [Option ID = 8121]
2 [Option ID = 8122]
3 [Option ID = 8123]
4 [Option ID = 8124]

AW N -

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

U WA gEEerE | g w5 Fetated § 8 w9 G o 95 6w 3w e %y gaeal W
ST 27

(1)  samE (2) HAFAR
(3)  IUEH (4) gAY

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1 [Option ID = 8125]
2 [Option ID = 8126]
3 [Option ID = 8127]
4 [Option ID = 8128]

A W N -

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

A TRIITE o FTEN ST T W W ST o HEl e R

(A)  ToEms fawm @ g i wHEa/oEsar # YA (3999)
(B) WO = w0 (%G)
(C)  sAfgamon i fagdt = =v d gfz (o)

(D) Afqgron =1 %o (wfa)

(E) Tafes fmm =1 sgmm 24 (3gmmn)

H= fom o famedt © @ @E 3 w1 =9e Fifm




wwwpreppi), (C). (B). (A), (E) 'repp
f3} [D} {BJ (E). (A) {G) Your Personal Exams Guide
(4) (D), (E). (A). (B), (C)

[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]

1. 1 [Option ID = 8129]

2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]

4. 4 [Option ID = 8132]

23) Which of the following schoolz of Classical Indian Philozophy reduce Sabda pramana

(verbal authority) to inference?

(A) Navava

(B) Vaiéesikas

() Buddhists

(D) Mimﬁmsﬁ

(E) Carvaka/Lokavata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
(4) (A}, (D) and (E) only

T AW 29 i R A-H A0S W% T H SHAE o S0 gl 2 7

(A) =M
(B)  Asifu=
€ g
(D) HrmrE

(E)  =aie /<iwmEd

A fou U kel | § @Rl 3T 1 =E i

(1)  =a= (B) &1 (0)
(2) === (B). (C) #1 (E)
(3) === (B) # (E)

(4) %= (A), (D) #1 (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:



wW.?ﬂHb?)’ifﬁement () and Statement (ll) are false
(3) Statement (l) is true but Statement (ll) is false
(4) Statement (l) is false but Statement (ll) is true

= 21 ey fau T R
F (1) T TS TR % AR T 0 e 0 5 H Gt w2
Fo7 (1) : i HTEAT T8 98 Sadl § % 50 R uwn @ e S =ifee afee g I8

Fardl 2 76 26 FE IFEE 9T 2

I FUA F A °, S B0 GEe § " g 39w 9 i

(1) =99 (D) =17 (1) 341 a9 2
(2) = (1) SR (ID) 241 w15 Bl
(3)  FwA (1) =3 2, Sl ®w9q (1) s 2

(4) = (1) 9897 &, wrFa F9a (1D 909 2|

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (1) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

Tt-1 = =g g=-11 1 faem Fifsm)
-1 FhII
(A)  HAfiamoT i wE % =9 5 9 @) & gt w A w AT A RS e
|
(B) = =1 HU (I) "=l o8 =17 2
(C) fafea Fam = 3gmaw & (TIIT) AT 9818 o 3 2|
(D) Turfue =1 T sTfaamen 1 w9 (IV) w3t =TT gt 2|

= feu Tu faskedi ® @ wE 3w = =EA Hifo

(1) (A)-(I). (B)-(III). (C)-(IV). (D)-(IT)
(2) (A)-(IV), (B)-(III)., (C)-(D), (D)-(II)
(3) (A)-(IID), (B)-(IV). (C)(I). (D)-(I)

prepp
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wiMestépiplib = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141] 'repp
2. 2 [Opt]on ID - 8142] Your Personal Exams Guide
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

U 3773 21 HEI 4w Bl H U A Hisel % o921 Ei e 2 faew e fagd i gud w2 am
1 foel S92ia Aisal H A0S TR B Sl AR 999 § 59 2

(1) e (de) = (2) =13
(3)  witas w2 &8 s59 (4) U= S

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

I 71 w9 fau o £ um wfieeE (Assertion A) % w9 H fefiad # A ZH 3H% %00 (Reason R)
wHETH

ATFFE (A) Tl WETT AT RE H U SR s sEes =0 § gwiug w5 = e
F0 (R) T 3R FOgE ®Hg G0 W ATE § ga A8 o awd |

IYE HIH * A |, = B T e 4 " wEl 39w 59 it

(1)  (A) 3 (R) 341 @3 & #R (R), (A) 1 =&l =ame 2|

(2)  (A) 37 (R) 31 &7 &, WA (R). (A) it 981 =z 75 2
(3)  (A)med 2w (R) 3790 2

4)  (A) @ 2, Wil (R) &9 21

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

T 92 W weH B A9 % w0 4 St wrm anae w8 w9 i agEe it
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(B) 5 K Bytes 'repp

Your Personal Exams Guide

(C) 1 & Bytes

(D) T Bytes

= feu o faseT § @ ®El 39 o =9 FA

(1) (D), (A). (©).(B)
(2) (A). (D). (C). (B)
(3) (A). (B). (C). (D)
(4 (D), (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1 [Option ID = 8153]
2 [Option ID = 8154]
3 [Option ID = 8155]
4 [Option ID = 8156]

AW N =

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (I) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

cT e & o e i ar o S G E, e A e o E

Fo7 (1) : TE-F1E F 19 wEY o F9 a2l
w97 (I1) ATE-FTS % HISAS A Se[2Y ] ST Fal AT A 3 H ST 6l o AT B

IWIF FIA F AEF °, 9 @ 70 T § W " 39 # 95 hian

(1) = (1) =% 1) 24 a3 3
(2) =y (1) 3 (ID) 24 1w 2
(3) = (I) &ed 2, =it w9 (II) 37 2|

(4) =y (I) 8F &, wiiba #9A (1D 99 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1 [Option ID = 8157]
2 [Option ID = 8158]
3 [Option ID = 8159]
4 [Option ID = 8160]

A WN -

30) Match List | with List Il :

T=1-1 % =y g=-11 %1 faee i)
-1 =11
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(B) OMR (II)  =5-Teedta wWiena § &% 79= F + fom
(C) Email (IIT) FTEH=ToT FegHa
(D) Instant Messaging (IV) =aFrfer Hegfenem

Hr= f3u U fashedl 4 © w8 3T 0 =g i

(1) (A)-AD. (B)-(D). (C)-IV). (D)-(I1I)
(2)  (A)-ID. (B)-(D). (C)-ID). (D)-(IV)
(3) (A, (B)-(ID). (C)-IID). (D)-(IV)
(4) (A)-M). (B)-I), (C)-(IV). (D)-(1I)

Match List I with List IT :

multiple-cholce

List I List IT
(Computer Terms) (Purpose)
(A) OCR (! Used to scan typed or handwritten
documentsa
(B) OMR (II) Used to
examinations
(C) Email (IIT) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
(1) (A)-(ID), (B)-(T). (C)-(IV). (D)-(I1T)
(2) (A)-(IT), (B)-(I), (C)-(III). (D)-(IV)
(3) (A)-(D), (B)-(II), (C)-(1II), (D)-(IV)
(4) (A)-(D). (B)-(II), (C)-(IV). (D)-(I1T)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Frfafiga § o ®i9-o1 vH 3TH 1 & wE G 9w 2
(1) T TEATEES (2) foemse FwUSS
(3)  FTE TEATEES 4 He

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafia & & FH-m1 31 G A S F = TEH A7

(1) =arE == (2)  TEA T
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[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN] 'repp
1. 1 [Option ID = 8169] Your Personal Exams Guide

2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic (4) Storm

frfafaa § 9 -5t ITHfa® ST9e ST agdt & R 39E S Eas | WE a8 7
(1) g (2) e e
(3)  #HEMN (4) TFH

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

T T =1 GEEE FE e % 529 § NMSHE Fefafad § & o gammem 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

Tretetad § 8 7 Yol 1 TaFs T9 5T & ST 1T qelag Tiadd T asa 7

(A) I SEATETES
(B)  =FomRm 7= (PMas)
(C) A=

(D) e

(E)  T5g| AFE1ES

= fou o fawedl # § TE I & =999 Fifau

(1) === (B), (C) 3t (D)
(2y  Fae (A). (B) AR (C)
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[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
o T & "2d H, WA F=a9 FEeE § g e § uE uEgdE ddn 9 fHgiid e 6 e
Frfetaa | @ e wgm T /amea =i g e e

(1) 7 (2) wHi s
(3) wHEaImA (4) uaEH 3

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1 [Option ID = 8185]
2 [Option ID = 8186]
3 [Option ID = 8187]
4 [Option ID = 8188]

A W N -

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; ; ;Listll

(A) NAAC ; ; () Delhi

(B) NIEDA ; ; (II) Bengaluru

(C) NDRI ; ; (lll) Lucknow

(D) CDRI ; ; (IV) Karnal

g1 = wre g=i-11 %1 fae Hifs)
F1-1 -1
(A) wuTH IO =2
(B) mEEIdT (1) #Ta=
(C) wa F HAR s (IID) =E@+s
(D) i gt am ams (IV) =T

= fau Tu feereal | ® wWE IE 1 = i

(1) (A)-(ID), (B)-(IID), (C)-(T), (D)-(IV)
2 (A)-AD. B)-A). (C)-AV). (D)-(I1I)
3)  (A)-IID, (B)-AD). (C)-). (D)-IV)
4)  (A)IV). (B)-(IID. (C)-(II), (D)-(T)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.

(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :



W e dBlin(E) only
O b oniy prepp

(4) (A), (C), (D) only Your Personal Exams Guide
T2 forem it (va £ d1)-2020 § w3 £ F vF F w0 FAE w1 wEGE 2| @ T F fates v g 27

(A) iR § s R FamEn wg AU R dEn )

(B) e =i HOFH &g WEiRTR % TEF % 5E9 § HEE % 5E SEE-TEE 59 OF 59 9eA1 A1

(C) =i g T w1 seE 35 °§ gEea wg ssardt et = ot )
(D) T ditaEl, FM SR FoEE TEdT F &7 ¥ ATaw gHie B A w Bg S s
SEfeTs =1 TR W 5T S ATEH T4 wA

(E)  forem aienfiefi # siif.g® o7 SEAmTd amarsti =0 (Hamr =

= fou o faseul § O wE 3w %1 9Ee FiAu

(1) === (A), (D). (E)
(2) =S (A). (B). (E)
(3) == (B). (D). (E)

(4)  FFE (A). (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (C), (D), (E) only

frfeafiaa ® 9 FH-0 2-#fomm 5= 27
4 =9

(B) W

(C)  F==w

(D)

(E)y 7%

= fau o famweal § | HEl I w1 =9 HA

1)  #=5a (A). (B). (E)
(2) A (A). (C). (D)
(3) === (B). (C). (D)

Ay =Y (TH (FY



Wi .?ﬂb.'ﬂ = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40)

Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?

(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

WA TP F T 290 gA1 AW 2015 ® #ad A wem-4 ® metad fefatas 4 @ se- w5 amaen

T At
(1) 379 T 3R agee (2)  ToTETE foe
(3) T IEE (4) T FEEE U SATEEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topic:- General Paper_Set1_C

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi erisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

TS 1 WEEHYEE Ug q9T 36 915 20 T e S 2

FIAAT TRE FHITS-19 FRWRT 20K T F1 AT9E e = e A 5w Gvaag + ar & wsm
oSt A 21 fawet a4 & sifam 240 & ofern @ soeh 3va % WY g S HIECH B SISH Todh
TEET B B 99 21 3 7 @ B9 4 10 9 oA SO 9 & g9 7 e gl aeEa w5 R #
TN AWEAT AF ISA1 IS T 2| W A FEEN WA WHEZ H FE o B, a8 TR A
TETaER-AE w2 2| 29 W UeA® oAt SEE UWIEE B SE% SRRl @ ande S
(fadt) @ 7 w= 2 ff v T 9 TEE W T 7, WY 6 7 Y9 TR e 5eAR T 9w W
@ HEdl geal w1 ff 2@ W R 99 g% Afvash umEE s FEeE w owE w6 g i
oA % Agcd § e R T 2w T S and SAsfan ol amm e w 2| 3= T8 e o afdesfe
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HAHIM & % U [HICHA (20 sdls ) «alfll =nl AlshltA] Sl Hehdl &l feidd sih A HAHIA oIl & I=n g dY
www.prepp.in . _ . 7

ge-uaur (ifedm) 9 110 fafemm smfeh s 6 w6 smof| goe sifgom 2 6 500 fafemm (80 #s)
SR SO AT Sl R g WA § wRe qE A o |

The major crisis faced by the world since World War Il is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

fadia favagg & =12 fava =1 ooy 531 g% e &9 3 w27

E\l} . 2 Y ﬁ\ (2) o Y fﬁ
(3) 91 (4) =@

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8205]
2. 2 [Option ID = 8206]
3. 3 [Option ID = 8207]
4. 4 [Option ID = 8208]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family 1= suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socio economic recovery.
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

T W AEGHEE U2 9T 3 915 5T T weT % 5 2|

FIAAT T FHITS- 19 FRWRT Z0R T F A9 A = w6 A 5w Gvaag 5 9 & msm
ot AT 21 Tt @d % wifom B4 4 ofEen 4 oo 339 % WY TE A9 HIHOH B BISH TeuE
TR B b 99 21 3 7% @R B9 4 10 9 S SO 9 T g9 7 e ol aeea w5 R #@
T SEEAT AR IS UF TR B| WA T ARWN TEARST HHE ® FA AGE B, TR UR ST
amfaw-afd® awz ff 31 2 w1 v =t e awilEa 2| e e amfas arfdsw iR
(ferait) @ 7 o= & ft o T 99 T W R, Wy d 7 fave TR e & 5eAe @ u9e
wWrEe wedl ggg w1 A 2@ w1 2 9w g% afvew uedE st fEee % e W o 3w e
A % ged | e w21 & 2 @ e S o o e w 21 3% T8 A TR afdete
w9 WHE ER wHen W AT BW g gl % see @i wEp-tz welt 93 3| SAaUvE 46 6eT w6
HI9A 2 R 400 faferm (40 =#s) & i Ao w1 odt 21 fva @ 9 sgEm sen 2 B s
g-Ta (IfE2E) 9 110 fEfems i sen it w6 st see wfioe 2 % soo fafemm (80 =)
ST AU i Sl g e g wRe A8 = e

The pandemic has left which of the following area unaffected?
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(1)
(3)

BILIEED (2) i
eI e ere (4) FEAR

[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8209]
2. 2 [Option ID = 8210]
3. 3 [Option ID = 8211]
4. 4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic recovery.
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

I W HEEHEE U A1 §H 915 148 ¢ W I 3

FITAT T FHTS- 19 FamHl 201 T F1 9793 Afeas = g a4 ff7fm Gvagg 5 9 f m=m
oS A 2| fUse o % sifam 241 & uforn § sue 3299 % WY JF 9 FACERiH i BDISH el
TETET B g 2| O TF §@E F9 H 10 W S SO FH T 9 7R R AeEad w6 ORI
W SEEAE A" S8 95 1@ 2| Wl 9% WeENl e "% 4 Fal SAa® 8, 9% U SAyayd
HETAR-ASF Gz S B| 29 W UAF A SHE UANGd 2| SE% [SHEREl @ETHE ATdE S
(ferarft) @ 7 w2 & ft o 7011 909 T = w7, W @ T fOve TR we & medm ¥ A9 1w
e gedl gegl w f 2@ w2 a9 37 dfvas AmdE e FEeE o wE w0 o g w s
THAE % Sed § e R T 2w 5T A e St o AE e w® 2| 3 T A R aiegta
w9 GEE B e WA g g gl % viee 3 wHg-te Wil S B SAaUsiE 49 E@eT w6
oA & % 400 fafema (40 Fars) & i SrfEn w1 oG 2| fava @ 3 wgEe w2 s
g-Tan (Ifgdm) 4 110 fafeams smich gen #1 =t st o stfiom 2 7 s00 fafemm (s0 =rg)
S AT S et g w § gued a8 A e

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

FH-H TEET FETS-19 H F9H FA 79=T 53 A7

(1)

(3
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R .?ﬂb.'ﬂ = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8213]

2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic Tecovery.,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

T HEEHEE U A1 §H W15 148 T W WS 2

AT TEE FT5- 19 F2EHT 201 97 %1 AYAYE Afvas = @6 A 7w Gvaag 5 9 & w55
€t T B et 9 sifom T 8 ofien | o 399 F WY TE 9 SRR B BISE IoE
TEET ® H 99 2| O 0% @S F9 H 10 T S SO I T 99 7R A R #
ST SHEAE AiF 33M1 95 1@ 2| Wed 9% SNl WRed 6 ° #El SAUh 3, qE Uh YAy
aEaE-ATdE w6 3| 29 w1 ucdw = TEd uAed 2| sEe faeersnl amas anide i
TSHITa® AT USH a7 T ot GEE a9 e e e A1 2| Y U8 1 A Afds qiqai
(fearft) @ 7 w3 & ft o 7011 99 T = w7, W @ T e e we & meEm ¥ A
e ged gegl w ff 4@ w8 a9 3 dfvaw amdE artEn FEeE % owd w0 ol g w s
THTAF T Agcd § O R T 2| W G S A e o e e 1w 3| 3 6o o uiiesfe
w9 GEFE B W W g g gl R viee 3 wHg-te Wel 9% B S#algiEa 99 E@eT w6
g & TR 400 fafemm (40 =rs) =iom i St 1 wwdt 71 fava d% 4 wTEE w2 o s ad
w-maur (ifedm) 4 110 fafeme smfeh g 6 = smof| soew sifqum 2 B 500 fafemm (80 =ug)
S AT g SEt S g e | gwd T A

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

=1 ® & fopm geon 4 UN 1 amnfas i afomta (feedl) 3smn =t 9903 7em 0 27

1)
(3)

UNDP (2) UNICEF
UN-GHEP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Option ID = 8219]
4. 4 [Option ID = 8220]
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The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the Your Personal Exams Guide
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

TET W HEGHEE U8 99T T §1g 12 T qe I 2

FAAT A= FHITS- 19 FEWR 561 T F1 SAYaya dfvas S g9 an f7da fFvaag F ar &
o T 2| fiow o & wifem B § vfen # oo IEEE % WY 7 ATRE AT FBEE TeE
TR § A I 2| 379 OF g@:E 9 F 10 @ |0 A9 FE & g% 8 @R 5 AeEar # A w
T AEEAE A SBF1 U5 16 3] Wed A HEEN SR Gk d hEl AGw 2, T8 Uh YAy
oA AfEF T2 ff 21 3 w1 U ARG I UWEd 2| TO [Smen e ads s
(fait) @ 7 w= & ft o 71 9 TEE W w7, WY @ T fo9vd TR e & 5eA g u9e
e wedt ggg & ff 7@ w1 R 99 97 3w amdE et FEeE & FE w0 off 3w s
A=A o Sqca ° o R T 2| ' 29 W o S R o T T 2| 3% TR o ufifeate
F9 GEFE B WHed W AT 26 g e % sed AN WHE-07 Wl U2 R| SAAUEE 99 @aT 6
9 2 5 400 fafeem (40 Frs) Sl Fi e =1 @t 2| fva d@ 3 saEe e 2 fe oo A
g (Ifgdm) § 110 fafems amieh gen i =t et o stfiome 2 7% so0 faferm (s0 =rg)
S AT S et g A § gued a8 A e

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

FIT-10 % AAF § FeAigs § 9 54 o741/ OiHer % 52 51 1 G99 F5 g9Ea wnii?

(1) e 3= (2) =T Uil g
(3)  sArEfes afqeE (4) stefore afaeE

[Question ID = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]
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